AWESOME ARITHMETIC!

Use your arithmetic, written methods and problem solving skills to answer

all of the questions. Make sure you turn over!

Write 12 as a Roman Numeral 897 + 12 =
2 7 8150 - 1897
— — | —
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£34.12 + £128.90 =

Round 3.45 to the nearest
whole number

Find 1/3 of 15

14.3 x 1000 =

Now turn over for your problem solving and reasoning questions...




Q15. Tom does a survey of children's favounte breakfast cereals.
These are the results for Class 6
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of children 4

Zhoc Honey Corn Golden
Grain  Bites Flakes Corn

How many more children in Class 6 prefer Choc Grain than Golden Corn?

Q1. Gavin was ill in March.

This is his temperature chart.

Gavin's temperature chart
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For how many days was his temperature marked as more than 37°C7?



